Time

Class-XII
1. GENERAL ENGLISH
Theory: 50 marks
:- 3 hrs CCE: 25 marks
Total: 75 marks
STRUCTURE OF QUESTION PAPER

Do all questions.

1

Sr.No.

AR

Part-A
Objective type questions (13 questions) based on the whole syllabus. 13 marks

Part-B (English Reader Book VI) 15 marks

a) Comprehension passage 8 marks
b) Essay type question (one out of two) from English Reader in about

100 words. S marks

c) Translation from Vernacular into English. (2 isolated sentences). 2 marks

Note:- A special question in lieu of translation for foreign students (To
paraphrase a stanza in simple English.)

Part-C (Supplementary Reader) 17 marks

Short answer type questions (3 out of 5 questions) 3x2= 6 marks
Essay type question (one out of two questions) from Supplementary Reader in
about 100 words. 4 marks
a) Reference to the Context and explanation. (1 out of the 2 stanzas) 4 marks
b) Central idea of a poem (1 out of 2) 3 marks
Part -D 5 marks

Do any one out of the following : Paragraph/Application/Letter/Precis Writing
Paragraph Writing (descriptive only) (one)

Application/Letter (Personal/Business (one)

Precis writing (one) 5 marks

MARKING SCHEME FOR COMPREHENSION

Questions M.M. 8
Name of the Writer and the Chapter 2 marks
Short Question 1 mark
Short Question 1 mark
Match the two words with their meanings 2 marks
Fill in the blanks with a suitable word from the passage 1 mark
Give meanings in simple English (two) 1 mark

INSTRUCTIONS FOR OBJECTIVE TYPE QUESTION

Objective type question will cover the whole syllabus prescribed
Note :- All questions will be strictly based on the syllabus.
All sub-questions are compulsory (marks-13)

Q.1(a) Do as Directed :
°

(b)
(c)

Grammar: 7
English Reader: 4
Supplementary Reader: 2

Change the Tense (1
Change the Voice (1
Change the Narration (1
Use of same word as a Noun and as a Verb (only one) (1
Use of Prepositions and Determiners in sentences (two) from the text (1+1=2
Transformation of sentences (1
One line answer questions from English Reader-VI 4 marks
One line answer questions from Supplementary Reader-VI 2 marks

)
)
)
)
)
)
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Model Test Paper

Class XII
Time: 3 hrs General English M.M.: 70
C.C.E.: 30
Total marks: 100
Part - A
Objective Type Questions (13 marks)
1. Do as directed:
(I) The deck was crowded with men. (Change into Past Perfect Tense) (1)
(ii) I've heard enough of this. (Change the voice) (1)
(iii) I asked with interest, “Where is the treasure?” (Change the narration) (1)
(iv) Order. (Use as a Noun and Verb)(1/2+1/2)
(v) She took...... her heels. (Fill in the blank with a suitable preposition.) (1)
(vi) Iwas ...... last passenger left behind.
(Fill in the blanks with a suitable Determiner)(1)
(vii)She would be caned for being late. (Change into a complex sentence) (1)

OBJECTIVE TYPE QUESTIONS FROM TEXT BOOKS
Write one line answers to the following questions based on text books.

(viii) What did Tom discover suddenly? (1)
(ix) How was the younger woman dressed? (1)
(x) Give the names of Swami’s friends. (1)
(xi) Who was sitting cross legged on the bench? (1)
(xii) What did Dr.Raman assure Gopal? (1)
(xiii) What type of freedom does the poet wish for his country men? (1)
Part B- English Reader Book VI (15 Marks)

2. (a) Read the passage given below and answer the questions that follow:

“They certainly do,” said Mr. Hudson. “The sight of their appetite makes me think of
my own supper. I want to get away before their prayer-time, which they will have after
they have drunk their coffee. Ten minutes later they will all be asleep, the divers in the
best quarters, for they, being the hardest workers, have the best treatment, and the
rope pullers lying down among the ropes and oyster shells. Then tomorrow all will be
up with the dawn and ready for work.”

(i) Name the writer and the chapter from which this passage has been taken. 2
(ii) When did the writer want to leave? 1
(iii) Why were the divers given the best treatment? 1
(iv) Match the words under A with their meanings under B:
A B
(a) appetite (i) scene
(b) sight (ii) desire for food
(iii) collected 2
(v) Fill in the blanks with suitable words from the passage:
Roux did not support the ............ of the bitten boy by Pasteur. 1
(vi) Give in simple English the meanings of any two of the following words:
dawn, supper, certainly. (1/2+1/2=1)
(b) Write a brief character sketch of Swaminathan. (Swami and his Father)
Or
Describe, in about 100 words, the appearance of Penguins. (Penguins) 5
(c) Translate the following sentences into English. 2

1. ¥ 3073 ®E 97 I
2. BAT BT I »iH &t T |

Part C-Supplementary English Reader (17 Marks)

3. (a) Answer any three questions in 25-30 words each:

(i) What did Mathilde do at the party? (The Diamond Necklace)
(ii) Why did people go to Dr. Raman as a last resort? (The Doctor’s Word)
(iii) Why did the child lose all interest in the fair? (The Lost Child)

(iv) Why did Tolstoy select a particular spot in the forest for his grave?
(Tolstoy’s Home)



(v) Which day do you think is the most difficult day?(The School for sympathy)
2x3=6
(b)  Write a paragraph in about hunderd words on the “Stupidity of borrowing
jewellery”. (The Diamond Necklace)
Or

Give in your own words, a brief character sketch of Miss Beam.
(The School for Sympathy) 4
4. (a) Explain with reference to the context:
My little horse may think it queer
To stop without a farmhouse near
Between the woods and frozen lake
The darkest evening of the year.
Or
No time to see when woods we pass,
Where squirrels hide their nuts in grass.
No time to see, in broad daylight,
Streams full of stars, like skies at night. 4
(b) Write a central idea of any one of the following poems.
(i) Where the Mind is Without Fear
(ii) Stopping By Woods On A Snowy Evening. 3

Part D-Composition

Q 5. Do any one of the following Paragraph/ Application/ Letter / Précis Writing.
Write a paragraph on the following topic: Life In A Village

OR

Imagine you are Rekha. You live at 110, Shivaji Nagar, Jalandhar. Write an
application to District Education Officer for the post of an E.T.T teacher.
Or
You are Charanjit. You live at 29, Model Gram, Amritsar. Write a letter to your
friend, Anil, explaining why you could not attend her birthday party.
Or
Make a Precis of the following passage and give it a suitable title.

People talk of the growth of population in India, and there is no doubt that it is a
serious problem and one that demands attention. But for my part I don’t so much fear
the growth of population as the growth of an unmanly population. If our people are
mainly hardworking and skillful, I feel confident that this earth will be able to bear
their weight. But because we lack the spirit of self discipline, an unmanly and
spiritless population is increasing in numbers. The books that are being written, the
cinemas and so on, are tending completely to unman the spirit of India. In these
conditions, education must take up the task of training boys and girls from childhood
in self-control, maniliness or temprance. 5



Class-XII
8. ENGLISH ELECTIVE
Theory: 70 marks

Time: 3hrs.
CCE: 30 marks
Total: 100 marks
STRUCTURE OF QUESTION PAPER
Part -A
Objective type question No. 1 will be compulsory. (16 marks)

e It will carry 16 marks and consist of 16 questions of 1 mark each.
Objective type question will cover the whole syllabus.

I APPLIED GRAMMAR 10

Do as directed type questions covering the following items:

I. Change of Voice 2
II. Change of Narration 2
III. Combining two simple sentences into one use linkers etc. 2
IV. Use of Modals 2
V. Transformation of sentences (use of gerunds, to-infinitive, participles,
adverbials) 2
Note: The above question will be based as far as possible, on the text books.
Two questions each from text book will be asked. 6
1. Dear to All the Muses 2
2. The Literary Petals 2
3. Select One Act Plays/ Pride and Prejudice 2
PART B- DEAR TO ALL THE MUSES (14 marks)
(Text for detailed study)
8

II. Comprehension of a passage :
Comprehension to be tested with the help of the following techniques :
(i) Three short- answer questions 3

(ii) Matching exercise (Two words to be matched out of four words)2

(iii) Fill in the blanks (Two sentences) 2
(iv) Finding one word for a given expression from the passage. 1
II1. 2 out of 3 short answer type questions based on the contents of different
lessons (to be answered in 50-60 words each). 2X3=6
PART C-THE LITERARY PETALS (13 marks)

(Text for detailed study
v. (a) Two short answer type questions (to be answered in 50-60 word each) 1

from story and 1 from poem as suggested at the end of each lesson, with

internal choice in each question. 3x2=6
(b) One essay type (long answer type) comprehension question (with internal
choice) as suggested in the exercises at the end of each story. 4
V. Explanation with Reference to the Context (POEMS ONLY) of a given stanza/lines.
OR
A question on summary/substance/development of thought etc. of a poem (with
3

internal choice)



PART D-SELECT ONE-ACT PLAYS (Text for non-detailed study) / PRIDE AND
PREJUDICE (12 marks)
SELECT ONE-ACT PLAYS

VI (a) Explanation with Reference to the Context.
(b) Character — Sketch (with internal choice)
(¢) Question on theme/incident/episode etc.
OR
PRIDE AND PREJUDICE
(@) Character sketch (with internal choice) 6
(b) Theme/Incident/Episode (with internal choice) 6
PART-E COMPOSITION & VOCABULARY (15 marks)
VII  Paragraph Writing (one out of five) 6
VIII Vocabulary
(@) Match the words 2
(b) One word expression 1
(c) Use of a word as a noun and a verb 1

Note: Vocabulary question will be based on the exercises given in the text books meant
for detailed study:
(i) The Literary Petals
(ii))  Dear to All the Muses
IX TRANSLATION 5 marks
From Vernacular into English
A small running passage of about 5/6 sentences.

Note: A special question in lieu of translation for foreign students:

Model Test Paper

Class-XII
8. ENGLISH ELECTIVE
Time: 3hrs. Theory: 70 marks
CCE: 30 marks
Total: 100 marks
PART - A

Objective Type Question
1. Do as directed:

(a) Change the Voice:
(i) His mother held him tightly.
(ii) I didn’t care for these over-elegant works. 2
(b) Change the Narration:
(i) “Everyone seems to have gone mad!” said the clerk.
(i) “Father, why is the river on this side?” he asked. 2
(c) Combine the sentences:
(i) He liked to refer to himself as a boy.
He was forty.
(ii) He was about to address the man.
He changed his mind. 2
(d) Fill in the blanks with suitable modals:

-5-



(i) He see his silhouette reflected in the water.
(ii) I was sure you give me another dress. 2

(e) Transform the sentences as indicated:

(i) She used to borrow books from (lend) library. (Use Gerund)
(i) He threw on the tablea __ (jewel) girdle of great beauty.

(Use Past Participle)
(iii) You should be able qualify with your eyes shut. (Use ‘To’ Infinitive)
(iv) He____ (certain) had a very good time. (Use Adverb)

. Answer the following questions in not more than one sentence:
(f) Dear To All The Muses:
(i) Who accompanied Ali the Blest to polling station? 1
(i) How much distance does a gorilla cover in a day? 1

(g) The Literary Petals:

(i) Who were the three occupants of the boat? 1
(i) Who was Vidura? 1
(h) Select One Act Plays/Novel:
(i) Name the forest in which Robin Hood and his gang used to hide. 1
(i) Who is Mrs. Bennet’s favourite daughter? 1
PART - B

Dear To All The Muses
. (a) Read the passage given below and answer the questions that follow:

Not many trains stop at Mano Majra. Express trains do not stop at all. Of the many
slow passenger trains, only two, one from Delhi to Lahore in the mornings and the
other from Lahore to Delhi in the evenings, are scheduled to stop for a few minutes.
The others stop only when they are held up. The only regular customers are the
goods trains. Although Mano Majra seldom has any goods to send or receive, its
station sidings are usually occupied by long rows of wagons. Each passing goods
train spends hours shedding wagons and collecting others. After dark when the
countryside is steeped in silence, the whistling and puffing of engines, the banging
of buffers, and the clanking of iron couplings can be heard all through the night.
I.  Which passenger trains stop at Mano Majra? 1
II.  Why do goods trains stop at Mano Majra? 1
III.  What can be heard all through the night, after dark when the countryside is
steeped in silence? 1

IV.  Match the words given under ‘A’ with meanings given underB”:

‘A’ 6B’
(i) seldom (a) rural areas
(ii) countryside (b) urban areas

(c) not very often

(d) for oneself 2

(v) Fill in the blanks with suitable words from the passage:
(a) Shopkeepers pay more attention to their regular

(b) The police demolished the huts built on illegally land. 2
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(vi) Find one word from the passage for the given expression:

the absence of any sound or noise 1
3. Attempt any two out of the following questions in 50-60 words each:
(i) What realization dawned upon the author on the second day? (Jamaican
Fragment)

(ii)) Why was Owens a little hot under the collar about Hitler’s ways? What was he
determined to do? (My Greatest Olympic Prize)

(iii) Why did Lohumi walk to the sickly path steadily?(Warrior Against Weeds)2 x 3=6

PART - C
The Literary Petals
4. (a) Answer the following questions in 25-30 words each:

(i) How did Guru Tegh Bahadur treat Dhirmal who conspired to kill him?
(Hind Ki Chadar -- Sri Guru Tegh Bahadur)

What was Ford’s father’s favourite (s)arl.ying? (Attacked by Pit bulls)
(ii) What did the speaker see when the speaker looked again? (Still Life)
Or
What is the state of mind of the speaker in the poem ‘What Though The Field Be
Lost™? 3x2=3
(b) What had been the activities of the two friends during the twenty years interval
between their meetings? (After Twenty Years)
Or

Write in brief the idea contained in the story The Ant And The Grasshopper’. 4
5. Explain the following with reference to the context:
Our God knows no barriers of caste, colour and class
Children of earth, we are the lotuses in bloom
Worthy of being offered at the shrine
Which is our earth.

Or
What is the central idea of the poem, ‘Is This The End?’?

Or
Write a summary of the poem, ‘The Quality of Mercy’. 3

PART -- D
Select One-Act Plays OR Pride and Prejudice
6. (a) Select One-Act Plays:
(i) Explain with reference to the context:
And yet, for all that, I'd be glad of the hundred crowns they offer for his head in
Nottingham. I hear the Sheriff will pay that money for him, dead or alive.

Or
What, at this time of night? A pretty business truly. Are we to have no sleep now,

but to be at the beck and call of everyone ne’er-do-well who happens to pass? 4
(ii) Draw a character-sketch of Richard Alton in the play The Man Who Wouldn’t go
to Heaven’ or Herbert in the play ‘The Monkey’s Paw’. 4
(iii) In the play ‘The Miracle-Merchant’, how does Mrs. Beauwhistle try to get rid of
Jane? Why does she not succeed?

Or
Bring out the supernatural elements in the play ‘The Monkey’s Paw’. 4
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OR
(b) Pride and Prejudice

(i) Give a brief character sketch of Mr. Darcy or Lady Catherine de Bourgh. 6
(ii) Describe how Elizabeth Bennet rejected the proposal of Mr. Collins.
Or
Give a brief account of the Bennet family. 6
PART - E

Composition & Vocabulary
. Write a paragraph of about 150 words on any one of the following:

(i) God is one

(ii) The Problem of Stray Dogs

(iif)Our School Peon

(iv)A Visit to an old Fort

(v) Water Pollution 6

. (a) Match the words given under ‘A’ with their meanings given under ‘B”:

‘A’ ‘B’
(i) gory (@) not easy to describe

(ii) snag (b) some hidden difficulty or obstacle

(iii) subtle (c) violent and bloody

(iv) flaunt (d) make a show of something 2

(b) Give one word for each of the following:

(i) a frightening dream

(ii) remove by rubbing or scratching 1
(c) Use the given word in sentences, as a Noun and as a Verb: hand 1
. Translate the following into English:
mhwgmw bu'D inpwl dy ie 'k rwjy SuDoDn dy spu ' qr sn [Awp dw bcpn dw nW
isDwrQ sI [ ibhwr iv'ec ‘gXw’ nwmI sQwn gy Awp jI nUM igAwn pRwpg
hoieAw [ies nvyN pRwpg igAwn dw pRcwr Awp ny dUr-dUr q k kIgw [ Awp
JjI ny hr ieMswn nUM A'T SuB krm krn dI pRyrnw id'qI [ Awp ny mu~K
qOr qy SuB becn bolx, iksy jIv nUM du K nw dyx, lokweI dI syvw krn,
Aqy jwgpwqg dw ivgkrw nw krn dw aupdyS id qw hY[

Or
maha%maa bauRw naopala ko ek raja SauQaaoQana ko suapu~ gao. Aap ka bacapna ka

naama isawaga- gaa. ibahar maoM ‘gayaa’ naamak sgaana pr Aapkao &ana p'aPt huAa.[sa
nae p aPt &ana ka p'caar Aapnao dUr-dUr tk ikyaa.Aapnao hr [nsaana kao Aaz SauBa
kma- krnao kl p'orNaa dl.Aapnao mau#ya $p sao SauBa vacana baaolanao, iksal jalva kao
duK naa donao, laaogaaoM kl saovaa krnao, jaatpat ka BaodBaava naa krnao ka JpdoSa
idyaa hO. 5

Or
(Alternative Question for Foreign Students Only)
Write a paragraph on any one of the following topics:

(i) My Favourite Indian Food
(ii) Our Country 5



Class XII
Mathematics
(Common for Humanities, Sc. & Agri. Groups)
Time allowed: 3 hrs M.M.: 70
Note:

1. All questions are compulsory.

2. Marks allotted to each question are indicated against it.

1
(i) The principal value of tan™ [J is
NE)

1
II
— b. H c.H d.H 1
2 3 4 6
5 21
2z 2 2
(i) Thevalueofls 3 1lisequal to: 1
a. 1 b. 3 c. 5 d. 0
(iii)  The derivative of emx w.r.t. x is 1
a. memx b. emx c. £ d. m?2emx
m
3
. |
(iv) I —dx is equal to: 1
5 X
3 2
a. 1 b. log— c. log— d. 0
g 2 g 3
II
1 sinx
(v) J.'idx is equal to: 1
o Sin x +cos x
a. 0 b. I c. 1 d =
2 4
(vi) The degree of the differential equation 1
dy _
dx® ~ cos3x + sin3x is:
a. 0 b. 1 c. 2 d. 3

(vii) If @, ]A',lg) are three mutually perpendicular unit vectors, then kxiis equal to: 1

a. 1 b. J c. k d. 0
(viiij The equation of ZX- plane is:sss 1
a. y=0 b. x=0 c. z=0 d. None of these
2. Prove that f: R~ R given by f(x) = 3x is a bijection. 3
3. Prove that 3
tan 4 tan"t = = tan™
mogttEm TRl Ig

4. Express the following matrix as the sum of a symmetric and a skew symmetric matrix
-3 53 6
[—1 0 1]
2 1 2

5. Prove that function f: E =+ R defined by f(x) = 4 is continuous in R 3

Or
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Determine the value of k’ if the function defined as

in3
[sm x Fxx ﬂ}
flx) = Lk fx=0) is continuous at x=0 3
6. Differentiate 108x2 w.r.t x 3
7. Prove that the tangents to the curve y=7x3 + 11 at the points where x=2 and x=-2, are
parallel. 3
IE" sinZx dx
8. Solve 3
I 1
9. Solve G+DE+D gx 3
Or
R
X
Evaluate ————dx
I': Jx+5-x 3
10.Find the area enclosed by the circle x2+y2=25 (Using Integration) 3
11.Solve : cos(x+y)dy = dx 3
D _ o =
12.Solve : - D=e 3
Or
dy
Solve : ﬁ_x_.]'l_x}'_}' 3
. L. - =+
13.Find the projection of ¥ + ¢ on & where
F=2i+2/—-F b=1-37-2F w3c=1+2j-2F 3
14.1f P (A) = 3/5, P (B) = 1/5 and P (Not A or Not B) = 22/25 State whether A and B are
independent or not. 3
15.Find the probability distribution of the number of Heads in three tosses of a coin. 3
Or
For the following probability distribution find Mean and Variance of X
X 0 1 2 3
PX) |1 1 3 1
a 3 10 30
3
16.Solve the following system of equations by matrix method
2 3 3 1 1 1 3 1 2
-—— —+ ==11, -+ -+ ==10, —— -+ -=13
x vy z x ¥y z X vy z Where x,y,z * 0 5
17.Find the intervals in which the function f(x) = x3-12x is )
a. increasing
b. decreasing
or
Prove that the perimeter of a right angled triangle of given hypotenuse equal to 9 cm. is
maximum, when the triangle is isosceles. 5
18.Find the image of point (1, 2, -1) in the plane 2x+y-z = 2 5
Or
Find the angle between the following pair of lines 5

T=i+j+k+ A(@- 3+ 2k ),
F=zi— j+ k+ u 3+ ]+2k)

19.A manufacturer produces nuts and bolts for industrial machinery. It takes 1 hour of
work on machine A and 3 hours on machine B to produce a packet of nuts while it
takes 3 hours on machine A and 1 hour on machine B to produce a packet of bolts. He
earns a profit of Rs. 17.50 per package of nuts and Rs. 7.00 per package of bolts. How
many packages of each should be produced each day so as to maximize his profit, if he

operates his machines for at the most 12 hours a day? Find the maximum profit also.
5
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Model Test Paper
Class XII
PHYSICS
3 hrs. Maximum Marks: 50

You must write the subject code/paper code 052/A in the box provided on the title page
of your answer-book.

Make sure that the answer-book contain 30 pages (including title page) and are properly
serialed as soon as you receive it.

Question/s attempted after leaving blank page/s in the answer-book would not be
evaluated.

Use of unprogrammable calculator/log tables in allowed.

Answers should be to the point and supported by relevant formulas/ law/ principle/
diagrams.

Questions 1 to 5 carry one mark each (attempt all questions).Questions 6 to 14 will
carries two marks each (attempt any 6 out of 9 questions. They are short answer type.
Answer to each should be in 20 to 30 words. Question Nos. 15 to 23 will be of three
marks each. Attempt 6 out of 9 questions). Questions 24 to 26 each carries five marks

each (with internal choice)(attempt all questions).

Attempt all questions.

1. State the principle of moving coil galvanometer.

AR

What is Curie point?
Which photon is more energetic, green or blue?
Name the series of hydrogen spectrum lying in ultra-violet region.

What is Fermi energy level?

Y SO Ty
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Attempt any six questions.

1. Electric potential at a distance 9cm from charge is 100V. Find the magnitude of a charge. 2
2. Give two uses of Gamma rays. 2
3. What are ohmic and non-ohmic devices? Give one example of each. 2
4. A metal has work function SeV. Will this metal emit electrons, when light of wavelength

400nm falls on it? 2
5. Write the conditions for total internal reflection to take place. 2
6. Draw a block diagram of a communication system. 2

7. 1If the two slits in Young double slit experiment have intensity ratio 16:1, calculate the ratio

9.

of intensity at maxima and minima in interference pattern. 2
Two resistances when connected in series give a total resistance of 18Q and when
connected in parallel gives a total resistance of 4Q. Find the value of each resistance. 2

What is photon? Give its two properties. 2

Attempt any six out of nine.

1. What is potentiometer? With the help of circuit diagram, explain how a potentiometer can
be used to compare the e.m.f. of two primary cells. 3
2. Prove mathematically that the average value of alternating current over one complete cycle
is zero. 3
3. A wire 88cm long bent into a circular loop is placed perpendicular to the magnetic field of
density 2.5 Wbm-=. Within 0.5s the loop is changed into square of each side 22cm and
density is increased to 3Wbm-2. Calculate the value of e.m.f. induced. 3
4. Establish the relation between object distance, image distance and radius of curvature for a
concave mirror. 3
5. Calculate the binding energy per nucleon of 3Li7 nucleus. Give mass of 3Li” nucleus =
7.01599 a.m.u., mass of proton = 1.007825 a.m.u,
Mass of neutron = 1.008665 a.m.u. and 1 a.m.u = 931.5MeV. 3
6. With the help of labelled circuit diagram, explain the working of transistor as a switch. 3
7. State the postulates of Bohr’s atomic model. 3

8. A lens of focal length 12 cm produces a virtual image. The size of image is 1/3 times the

9.

size of the object. What kind of lens it is? Determine the positions of the object and the
image. 3

Give the logic symbol, truth table and Boolean expression for NAND gate. 3

Attempt all questions.

1.

Derive the expression for electric field intensity due to electric dipole at any point on the
axis of the dipole. What is the magnitude and direction of electric field intensity, when the

distance of the point from the centre of the dipole is very large as compared to the length of

dipole? 3,1,1
Or
(a) Explain why the capacitance of capacitor increases when dielectric slab is inserted
between plates of the capacitor. 2
(b) Derive an expression for energy stored in a charged capacitor. 3

State Ampere’s circuital law. Using Ampere’s circuital law, derive the expression of

magnetic field at any point inside the current carrying solenoid. How will you determine the

direction of magnetic field? 1,3, 1
Or

With the help of labelled diagram, give the principle and theory of cyclotron. Why it is not

suitable for accelerating neutrons? 1,1,2,1
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3.

By giving sign-conventions, derive the lens formula relating object distance, image distance

and focal length for a thin convex lens. Draw a ray diagram to show the formation of image

of an object placed between optical centre and focus of a convex lens. 1,3, 1
Or

With the help of labelled diagram, give the principle and derive an expression for agnifying

power of astronomical telescope, when final image is formed at least distance of distinct

vision. 1,1, 3

Model Test Paper
Class XII
CHEMISTRY

Time: 3 hrs. Maximum Marks: 50
Note:

L.

II.

III.

Iv.

VI.
VIL

VIIL.

IX.

XI.

You must write the subject code/paper code 053 /A in the box provided on the title page
of your answer-book.

Make sure that the answer-book contain 30 pages (including title page) and are properly
serialed as soon as you receive it.

Question/s attempted after leaving blank page/s in the answer-book would not be
evaluated.

Log tables may be asked for if needed.

Use of simple calculator is allowed.

Marks allotted to each question are indicated against it.

The paper comprises 26 questions. Attempt total 20 questions out of 26 questions as
per the directions given below.

Question Nos. 1 to 5 will be of one mark each. They are very short answer type
questions.

Question Nos. 6 to 14 will be of two marks each. Attempt any 6 out of 9 questions. They
are short answer type. Answer to each should be in 20 to 30 words.

Question Nos. 15 to 23 will be of three marks each. Attempt 6 out of 9 questions.
Answer to each should be in 50 to 60 words.

Question Nos. 24 to 26 will be of five marks each. There will be internal choice in them.

Answer of each should be in 80 to 100 words.
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Attempt all questions from 1 to 5.

1. Define Calcination. 1

2. What is the state of hybridisation and geometry in [Fe(CN)s|3-? 1

3. Name the enzyme which converts sucrose into glucose and fructose. 1

4. Define antibiotic. 1

5. Write the name and structure of the monomers of Buna-S. 1
Attempt any six questions.

6. Write two differences between Schottky and Frenkel defect. 2

7. Addition of 0.643g of 50ml. of benzene (density 0.879g/ml) lowers the freezing point
from 5.51°C to 5.03°C. if kr for benzene is 5.12 K Kg mole-!, calculate the molar mass
of the compound. 2
8. Differentiate between molarity and molality. 2
9. State the order with respect to each reactant and overall order for the following reaction.
Also give the units of rate constant.
¢,HCl, —»CH,,+HC,
Rate =k[C,HCl]

1+1

10.The boiling points of ethers are lower than their corresponding isomeric alcohols.
Explain. 2
11.Write a chemical test to distinguish between Acetic acid and Acetone. 2
12.Write the reactions of benzene diazonium chloride with
(i) Aniline

(ii) CuBr/HBr. 1+1

13.For a decomposition reaction, the values of rate constant k at two different

temperatures are given below:

k, =2.15x10"°Lmole 'S~ at 650 K

k, =2.39x107L mole'S™ at 700 K

Calculate the activation energy for the reaction.

(R=28.314J K 'mol™) 2
14.Complete the following:

(i) CH,CHO+4[H]—2

(i) CH,CHO+H,—"— 1+1

Attempt any six questions.
15.The density of chromium metal is 7.2g cm-3. If the unit cell is cubic with edge length of

289 pm, determine the type of unit cell. Atomic mass of Cr=52 a.m.u., No= 6.02x1023

mol-1. 3
16.Differentiate between absorption and adsorption. 3
17.(i) How is XeFsobtained?

(ii) PCls is known but PI3 is not known. Why? 1+2
18.How will you convert phenol to salicylaldehyde? 3
19.Write the cathode, anode and cell reaction in the dry cell. 1+2
20.Why does nitrogen show anomalous behaviour in its group? 3

21.Calculate the e.m.f. of the following cell at 298 K
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Cu,,\|Cu’ +(0.130M )| Ag* (1.0x107* M)|Ag,,, Given

E’(Cu® +|Cu)=+0.34V and E’ (Ag +|Ag) =+0.80V . 3
22.Give three differences between lanthanides and actinides. 3
23.Define

(i) Emulsion
(ii) Promotors and Poisons. 1%+1%
Attempt all questions.
24.(i) Noble gases have low boiling points. Explain.
(ii) Write two uses of ClOs.

(iii) Give two examples of pseudohalides. 2+2+1
Or
(i) Draw the labelled flow chart of Haber’s process for the manufacture of ammonia.

Also write the chemical equation.

(ii) What is the basicity of H3PO3 and why? 3+2
25.(i) Why do transition metals from complexes?
(ii) Out of La(OH)s and Lu(OH)s, which is more basic and why? 2+3
Or
(i) Give the oxidation of KI by acidified K>Cr2O7.
(ii) Transition metals ad their compounds are found to be good catalyst. Explain.
2+3

26.Explain the following:
(i) Finkelstein reaction
(ii) Wurtz-Fitting reaction
(iif) Williamson’s synthesis
(iv) Dehydrohalogenation reaction
(

v) Gattermann reaction. 1+1+1+1+1
(i) Give two uses of Freon.

(ii) The presence of electron withdrawing group at ortho and para positions increase the

reactivity of haloarenes towards nucleophilic substitution reaction. Explain. 2+3
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Time:

Note:
1.

II.

III.

Iv.

VI.

VIL

VIII.

IX.

Model Test Paper
Class XII
BIOLOGY
3 hrs. Maximum Marks: 50

You must write the subject code/paper code 054/A in the box provided on the title
page of your answer-book.

Make sure that the answer-book contain 30 pages (including title page) and are properly
serialed as soon as you receive it.

Questions attempted after leaving blank pages in the answer-book would not be
evaluated.

Draw well labelled diagrams, wherever necessary.

The paper comprise 26 questions. Attempt total 20 questions out of 26 questions as per
the directions given below.

Question Nos. 1 to 5 will be of one marks each. They are very short answer type
questions.

Question Nos. 6 to 14 will be of two marks each. Attempt any 6 out of 9 questions. They
are short answer type. Answer to each should be in 20 to 30 words.

Question Nos. 15 to 23 will be of three marks each. Attempt 6 out of 9 questions.
Answer to each should be in 50 to 60 words.

Question Nos. 24 to 26 will be of five marks each. There will be internal choice in them.

Answer of each should be in 80 to 100 words.

Attempt all questions from 1 to 5.

1.

Why are antigens called antibody-generating chemicals? 1
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Why apple is called false fruit?
Write the chromosomal abnormality of Klinefelter’s Syndrome.
Give full name of ELISA.

a & e
—_ = =

What is the most significant adaptation of hydrophytes?

Attempt any six out of nine question.

6. How does progeny formed from asexual reproduction differ from those formed by sexual
reproduction? 2

7. How do humoral and cell mediated immune system differ from each other?
8. Differentiate between connecting links and missing links.
9. Distinguish between primary productivity and secondary productivity.
10.What essential feature must be present in a cloning vector?
11.What is apiculture? How is it important in our lives?
12.Define biological control. Give its significance.

13.Give a brief account of recombinant insulin.

N N N N N N NN

14.Write a short note on biopiracy.
Attempt any six out of nine question.
15.What is Operon? Define types of genes which make up an operon.
16.Draw well labelled diagram of L.S. of mature ovule.
17.Discuss symptoms and mode of transmission of AIDS?
18.Explain in brief the orle of animal husbandry.
19.What are antibiotics? List the properties of antibiotics to be usedas medicine.
20.What is PCR? Write its advantages.

W W W W wWw Ww

21.What are molecular scissors? Explain their role in recombinant DNA technology. 3

w

22.Explain any three methods of vectorless gene transfer.

23.Describe in brief any one case study as success story addressing environmental issues.

3
Attempt all questions.
24 (i) Explain in brief development of dicot embryo with diagram.
(ii) Name various agencies of pollination. 5
Or
(i) Give a schematic representation showing events of oogenesis in human female.
(ii) What is amniocentesis? Give its uses. S
25.(i) Explain three morphological evidences in support of evolution.
(ii) Define — Gene flow, Genetic drift.
Or
(i) Define Incomplete dominance. Draw a Punnet square for Incomplete dominance
in Mirabilis Jalapa.
(ii) Describe Griffith’s experiment in brief to prove that DNA is a genetic material. 5
26.Define biodiversity. List the causes of biodiversity loss. How can we conserve it? )

Or
What is radioactive pollution? What are ill-effects of radiations? What is India’s role in

management of nuclear waste?
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20-30 FpdK ftZu, 16-20 sZe d/ T[Zso 40-50 FpdK ftZu ns/ 21-23 sZe

d/ T[Zso 80-100 FpdK ftZu f£dT[
3H b'V nB[;ko fuZso th pDkT[
1H vhH J/H ghH ykd ftZu'A g"fdnK B{z fejV/-fejV/ ylokeh sZs fwbd/ jB <
1
2H eDe dh c;b ftZu T[ZrD tkb/ d' BdhBK d/ BK fby'
1
3H nwo{d d/ p{N/ brkT[D dk ;wK eh j? <
1
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4H wl[orhnK B{z bZrD tkbhnK d' phwkohnK d/ BK fby'
1
5H gF{ gkbD s'A eh Gkt j? <
1
6H 3'b;NhnB coh}hnB rK fe; d/; dh B;b j? <
1
TH c[zZb d/ Bo Gkr B{z eh efjzd/ jB <
1
8H tkFg T[s;o0iB s'A s[;hA eh ;wMd/ j' <
1
9H yor'F d/ fdb d/ fezB/ ykB/ jlzd/ jB <
1
10H nkoH n?ZBH J/H dk g{ok BK fby'
1
11H wZbVQ s'A eh Gkt j? < 2
12H  \bK ns/ ;pthnK dh doikpzdh d/ eh-eh bkG jB <
2
13H w[oQk B;b dh wzM d/ d' w[Zy bZSD fby'
2
14H ;XkoB ns/ ;z:[es gZs/ ftZu nzso fby'
2
158 xkj d/ £NZv/ dh BkVh ggDkbh s/ ;zy/g B'N fby'
2
16H G{wh y[oB d/ jkBhekoe gqGkt fejVv/-fejVv/ jB <
3
17H  w[orhnK gkbD dk Xzdk F[o{ eoB t/b/ fejvVhnK-fejVhnK rzbK dk fXnkB oZyDk
ukjhdk ? < 3
18H wB[Zyh G'iB ftZu d[ZX dk eh wjZst j? <
3
19H e[eofpN/;h e[Zb dh nkofEe wjZssk fby'
3
20H ihtK dh T[Zsgsh pko/ ;zy/g B'N fby'
3
21H p/o dh ekFs dk toBD j/m fby/ f;ob/yK nXhB eo' L
(T) T[ZBs fe;wK (n) p{N/ bkT[D dk ;wK ns/ Yzr
(J) p{N/ fsnko eoB dk Yzr (;) ykdK dh tos'A
(3) ehV/ ns/ fpwkohnK dh o'eEkw
iK
joh ykd s'A eh Gkt j? < joh ykd bJh toshnK ikD tkbhnK \;bK d/ BK fby'
fJJBK ftZu eh-eh r[D j'D/ ukjhd/ jB <
5
22H  pDKT[Nh roG eoB s'A s[;hA eh ;wMd/ j' < f£Jj fet/A ehsk iKdk j? < £J; d/
bkG ns/ jkBhnK fby'
iK
gF{nK B{z DbZrD tkbh w{zj-y[o phwkoh d/ ekoB , bZSD ns/ o'eEkw dk toBD
eo' . 5
23H EDXkoh izs{nK d/ eh-eh bZSD jB < toBD eo'
iK
gokrD fefonk s'A s[;hA eh ;wMd/ j' < fJ; dhnK fe;wK fby' . gokrD fefonk
bJh f}zw/tko J/iz;hnK dk toBD eo'
5
W3S 2Ae Tua
At gt
fesiam (INSURANCE)
Time- 3hours Maximum Marks- 70
1. J5 fat yuar @ @37 el -
(i) d=ddeITatg=I? 1
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(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)
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12.
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Accountancy-lII

Section-A
I(i) Name any one item that appears on the debit side of receipt and payment
Account.
I(ii) Ranjit withdraws Rs. 2,000 per month on the last day of every month

during the year 2012. Interest on drawings charged @ 12% p.a. Calculate
the amount of interest.

I(iii) A, B and C are partners in 3:2:1 ratio. A retired from the firm. Find out the
new profit ratio.

II. Ascertain the amount of subscription to be credited to Income and
Expenditure Account for the year ended 31* December, 2012.
Rs.

Subscription received in 2012. 1,44,000
Subscription for 2011, received in 2012. 32,000
Subscription for 2012, received in 2011. 16,000
Subscription for 2013, received in 2012. 24,000
Outstanding subscription for 2012. 20,000

II1. Ramesh and Suresh are partner in a firm sharing profits in the ratio of their

capitals contributed on commencement of business which were Rs. 40,000
and Rs. 30,000 respectively. The firm started business on April 1, 2012.
According to the partnership agreement interest on capital and drawings are
12% and 10% respectively. Ramesh and Suresh are to get a monthly salary
of Rs. 1,000 and 1,500 respectively.

The profits for the year ended March 31, 2013 before making above
appropriation was Rs. 50,150. Interest on drawings amounted to Rs. 1,000
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Iv.

VL

&

VIL.(i)
VIL.(ii)
VIL.(iii)
VIIIL.
IX.

X.

for Ramesh and Rs. 1,250 for Suresh.
Prepare profit and loss appropriation Account.

What is Average profit method of valuation of goodwill? Explain the
steps involved in it.

Give any four modes of dissolution of partnership firms.

Ashish and Pankaj are partners in a firm sharing profits in the ratio of 4:3.
On 31 March, 2012 their balance sheet is as follows:
Balance sheet (As on 31% March, 2012)

Liabilities Amount Assets Amount
Rs. Rs.

Creditors 25,000 | Cash 14,800

Bills Payable 5,000 | Debtors 30,500

Capital Accounts: (-) Provision 300 30,200

Ashish 80,000 | Stock 40,000

Pankaj 60,000 | Machinery 25,000

Building 60,000

1,70,000 1,70,000

They agreed to admit Salil as partner from 1% April, 2012 with 1/8" share in
the profit of the firm on the following terms:
(i)  Salil will bring in capital to the extent of 1/8" of the total capital
of the new firm after all adjustments have been made.
(ii)  Building is to be appreciated by Rs. 7,000 and machinery is to be
depreciated by Rs. 3,500.
(iii)) The provision on Debtors is to be raised to Rs. 650.
(iv)  Goodwill of the firm has been valued at Rs. 56,000.
Prepare Revaluation Account, Partner’s Capital Accounts and Balance
sheet of the new firm immediately after Salil’s admission.
Or
What do you mean by Income and Expenditure Account? Describe the
method of preparing income and expenditure account from receipt and
payment account.

Note: Attempt any one Section from Section-B and Section-C

Section-B
What is the minimum number of members in a private company?

Name any one Profitability ratio.
Name any one item of ‘Cash flow from Operating Activities.

Give any four differences between preference share and equity share.

Discuss any four purposes of financial statements.

Calculate the commission received during the year 2012-13 from the following
information:

1 April, 2012 | 31 March, 2013

Rs. Rs.

Commission received in advance 60,000 40,000
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XI.

XII.

Accrued commission 40,000 30,000

Trading commission earned during the year = Rs. 10,00,000.

Sharma steel limited issued a prospectus inviting applications for 10,000
equity shares of Rs. 10 each at a premium of Rs. 2 per share payable as
follows:

On application: Rs. 2
On allotment Rs. 5 (including premium)
On first call Rs.3
On Second call Rs. 2

Applications were received for 12,000 shares and allotment was made on
pro-rata basis. Money overpaid on applications was adjusted to the
amount due on allotment.

Veena, to whom 200 shares were allotted, failed to pay the allotment
money and the first call; her shares were forfeited after the first call.
Sushma, to whom 300 shares were allotted, failed to pay the two calls and
hence her shares were forfeited.

Of the shares forfeited, 400 shares were reissued to Vinod credited as
fully paid for Rs, 9 per share, the whole of Veena’s forfeited shares being
included.

Pass Journal Entries recording the above transaction from the stage of
receipt of application money till the reissue of forfeited shares.

Or

What is analysis of Financial statements? Draw up a proforma of
company’s balance sheet showing major headings as per schedule VI of
companies act.

From the following information prepare Cash Flow Statement.

Liabilities 31.12.2011 | 31.12.2012

Rs. Rs.
Equity share capital 3,00,000 4,00,000
Preference share capital 1,50,000 1,00,000
General reserve 40,000 70,000
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VIL.(i)

Profit and Loss Account 30,000 48,000
Proposed dividend 42,000 50,000
Sundry Creditors 55,000 83,000
Bills payable 20,000 16,000
Provision for taxation 40,000 50,000

6,77,000 8,17,000

Assets 31.12.2011 | 31.12.2012
Rs. Rs.

Goodwill 1,15,000 90,000
Land and Building 2,00,000 1,70,000
Plant 80,000 2,00,000
Sundry Debtors 1,60,000 2,00,000
Stock 77,000 1,09,000
Bills receivable 20,000 30,000
Cash in hand 25,000 18,000

6,77,000 8,17,000

Additional information:

1. Depreciation of Rs. 10,000 and Rs. 20,000 have been charged on
plant and Land & building respectively in the year 2012.

2. Aninterim dividend of Rs. 20,000 has been paid in the year 2012.

3. Rs. 35,000 income tax has paid during the year 2012.

Or

Richa Fashion Ltd. issued 4,000, 8% debentures of Rs. 100 each on April 1,
2009 redeemable after four years. It has been decided to create
Debenture redemption fund for the purpose of redemption of debentures.
The Sinking fund tables show that Rs. 0.2155 invested every year in 10%
securities will amount to Re. one in four years.

On March 31, 2013 the balance at bank was Rs. 1,40,000. The debentures
were redeemed as per terms of the offer document.

Prepare Debentures Account, Sinking Fund Account and Sinking Fund
Investment Account for four years.

Section-C
What are Sequential codes?
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VIL.(ii)
VIL.(iii)
VIIIL.
IX.

X.

XI.

XII.

What is data?
What is DDB function?
What do you mean by Data validation? Explain.

What do you know about Tables in DBMS? Explain.

From the following information write the method of calculate depreciation
using DDB function in M.S.Excel.

Cost: (Rs.) 50000
Salvage: (Rs.) 2900
Life: (Years) 125
Period: (Year) 2

Show the ledger accounts of the following entries under computerised
accounting system.

2013
Jan.l Started business by investing Rs. 30,000
5 Purchased furniture for Rs. 7,500
7 Purchased goods for cash Rs. 11,000
9 Purchase goods from Rastogi on credit Rs. 4,000
12 Sold goods for cash Rs. 3,500
18 Sold goods on credit to Rajesh Rs. 4,500
21 Paid Rent Rs. 375
25 Donated Rs. 450
28 Paid Salary to Manager Sh. Sham lal Rs. 2,500
31 Deposited Cash in to bank Rs. 10,000

Or

What is Computerised accounting system? Discuss its structure in detail.

Write the formula of each column (from D to M) of the below shown

spreadsheet.

B.Pay = Pay in pay band + Grade | M.A.= Rs. 500 to each employee
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pay

D.A. = 72% of B.Pay (round off to
the nearest Re.)

G.P.F. Ded.- 10% of total pay
(round of to the nearest 10 Rs.)

H.R.A. = 12.5 % of B.Pay (Round
off to the next Re.)

R.A.A. = 6% of B.Pay

I.Tax Ded. - Rs. 1,000 if the total
pay is not exceeding Rs. 20,000 and
Rs. 2,000 if the total pay exceeds
Rs. 20,000.

A B C D|E|F|G/H|I J K L M
3 Name Pay in Grade | B.p | D.A. H.R. R.A | M. [Total | G.P.F | I.Tax | Total Net
ay

pay band pay A. |.A | A Ded | Ded. | ded. | Payab

le
4
5

= T Or

Show the following entries in petty cash register under DBMS.

2012 Rs.
April 1 Received cash from cashier 2,000.00
1 Paid postage 340.00
2 Paid Cartage 232.00
3 Stationery purchased 300.00
4 Paid for repair to furniture 260.00
4 Rickshaw charges paid 280.00
4 Paid for telegram 251.20
6 Taxi fare paid 200.00
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1(i)

1 (ii)

I (iii)

1 (iv)

1(v)

1 (vi)

I(vii)

1 (viii)

BOOK KEEPING AND ACCOUNTANCY

(HUMANTIES GROUP)

What is donation?

What are fluctuating Capital Accounts?

? = Old profit ratio — New profit ratio.

A, B and C are partner in the ratio 7:5:3. What will be the new profit
sharing ratio after A’s retirement?

Realisation expenses Rs. 700 paid by partner A. Give Journal entry.

What is meant by debentures issued at discount?

Mention the formula to calculate Current ratio.

Give any one use of cash flow statement.

Differentiate between Receipt & Payment account and Income &
Expenditure account.

Explain the contents of Partnership deed?

Explain Average profit method of valuation of goodwill with example.

X and Y were partners sharing profit and losses equally. On 31 December,
2012 when the firm dissolved their books showed the following balances
on that date:

Rs. Rs.

Investment 28,500 | Sundry Debtors 30,900
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VII.

Furniture 8,100 | Sundry Creditors 44,100
Goodwill 30,000 | Closing Stock 48,000
X’s Capital 60,000 | Bills payable 11,400
Y’s Capital 30,000

X agreed to bear all the realization expenses for this he was to be paid Rs.
1,500. The firm could realize only Rs. 28,200 of sundry debtors and 75%
value of the stock. Furniture was sold for Rs. 4,800 but nothing could be

realized for the goodwill. X took over the investment for Rs. 33,000.

You are required to prepare Realisation Account.

On 1% October, 2012, R Trading Company gave notice of their intention to
redeem their outstanding Rs. 16,00,000, 9% debentures on December 31,
2012, at a premium of 5%. The company has a balance of Rs. 16,80,000 at
the credit of its Profit and Loss account. Instead of declaring a dividend it
decides to uitlise the profits to redeem the above debentures. What

Journal entries the company will pass to redeem the above debentures.

Following are the Balance Sheets of S Ltd. And L Ltd. on 31* March, 2012:
(Rs. in lakhs)

Liabilities SLtd. | LLtd. Assets Sltd. | LLtd.
Rs. Rs. Rs. Rs.
Sundry Creditors 42 154 | Cash 27 72
Other Current Liabilities 78 62 | Sundry Debtors 220 226
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VIII.

Fixed Liabilities 225 318 | Stock 100 174

Capital 658 | 493 | Prepaid Expenses 11 21

Other current Assets 10 21

Fixed Assets (Net) 635 513

Total Liabilities 1,003 | 1,027 | Total Assets 1,003 | 1,027

From the above data, prepare a common size statement.

How Cash Flow Statement is prepared? Discuss.

What do you mean by Income and Expenditure Account? Describe the
method of preparing income and expenditure account from receipt and
payment account.

OR

Ramesh and Suresh are partner in a firm sharing profits in the ratio of their
capitals contributed on commencement of business which were Rs.
2,40,000 and Rs. 1,80,000 respectively. The firm started business on April 1,
2012. According to the partnership agreement interest on capital and
drawings are 12% and 10% p.a. respectively. Ramesh and Suresh are to bet
a monthly salary of Rs. 6,000 and 9,000 respectively.

The profits for the year ended March 31, 2013 before making above
appropriation was Rs. 3,00,900. The drawings of Ramesh and Suresh were
Rs. 1,20,000 and 1,50,000 respectively. Interest on drawings amounted to
Rs. 6,000 for Ramesh and Rs. 7,500 for Suresh. Prepare Profit and Loss
Appropriation account and partners capital accounts assuming that their
capitals are fluctuating.

Mohan and Sohan are partner sharing profit & loss in the ratio of 2:1. Their
balance sheet as on March 31, 2013 is as follows.

Balance Sheet (As on March 31, 2013)

Liabilities Amount Assets Amount
Rs. Rs.
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Sundry creditors 36,000 | Cash 16,000
Bills payable 14,000 | Stock 22,000
Capital Accounts: Debtors 30,000
Mohan 60,000 Furniture 40,000
Sohan 42,000 | 1,02,000 | Machinery 44,000
1,52,000 1,52,000

Parkash is admitted for 1/3" share into the firm on the date of Balance
Sheet. It is decided that:

1) Parkash is to bring Rs. 24,000 as his capital.
2) Stock is decreased by Rs. 4,000 and furniture is valued at Rs. 46,000.
3) Machinery is to be depreciated by 5%.
4) Sundry creditors have give up claim of Rs. 1,100.
Prepare Revaluation Account, Partner’s Capital accounts and Balance 3+3+
Sheet immediately after Parkash’s admission. 3=9

Or

Sharma steel limited issued a prospectus inviting applications for 20,000
equity shares of Rs. 10 each at a premium of Rs. 2 per share payable as
follows:

On application: Rs. 2
On allotment Rs. 5 (including premium)
On first call Rs. 3
On Second call Rs. 2

Applications were received for 24,000 shares and allotment was made on
pro-rata basis. Money overpaid on applications was adjusted to the
amount due on allotment.

Veena, to whom 400 shares were allotted, failed to pay the allotment
money and the first call; her shares were forfeited after the first call.
Sushma, to whom 600 shares were allotted, failed to pay the two calls and
hence her shares were forfeited.

Of the shares forfeited, 800 shares were reissued to Vinod credited as
fully paid for Rs, 9 per share, the whole of Veena’s forfeited shares being
included.

Pass Journal Entries recording the above transaction from the stage of
receipt of application money till the reissue of forfeited shares.
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What is analysis of Financial statements?
company’s balance sheet showing major headings as per schedule VI of

companies act.

Draw up a proforma of

From the following information prepare Cash Flow Statement.

Additional information:

-48 -

Liabilities 31.12.2011 | 31.12.2012

Rs. Rs.
Equity share capital 9,00,000 12,00,000
Preference share capital 4,50,000 3,00,000
General reserve 1,20,000 2,10,000
Profit and Loss Account 90,000 1,44,000
Proposed dividend 1,26,000 1,50,000
Sundry Creditors 1,65,000 2,49,000
Bills payable 60,000 48,000
Provision for taxation 1,20,000 1,50,000
20,31,000 | 24,51,000
Assets 31.12.2011 | 31.12.2012

Rs. Rs.
Goodwill 3,45,000 2,70,000
Land and Building 6,00,000 5,10,000
Plant 2,40,000 6,00,000
Sundry Debtors 4,80,000 6,00,000
Stock 2,31,000 3,27,000
Bills receivable 60,000 90,000
Cash in hand 75,000 54,000
20,31,000 | 24,51,000




4. Depreciation of Rs. 30,000 and Rs. 60,000 have been charged on
plant and Land & building respectively in the year 2012.

5. Aninterim dividend of Rs. 60,000 has been paid in the year 2012.

6. Rs.1,05,000 income tax has paid during the year 2012.
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1 (vii)
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BUSINESS ECONOMICS AND QUANTITATIVE METHODS-II

Find Median of the following data:

26, 42, 36, 48, 32

Write the formula of Laspere’s Method used for the construction of weighted

Index number.

What is regression equation of Y on X?

What is GDP,,, ?

What is meantby Cin AD=C+I?

Write any one Main function of money.

What is Revenue Deficit?

Mention any one Economic factor caused disequilibrium in Balance of

Payment.

The sum of deviations of a certain number of items measured from 2.5 is 50

and from 5.5 is -250. Find the arithmetic mean and number of items.

What are the problems faced in the construction of Index numbers? Explain.

From the following information find out regression equation of X on Y and find

the value of X when Yis 11.8

Arithmetic Mean 226 20
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VII.

VIII.

Standard deviation 8

Coefficient of Correlation

- 0.6

Find out (i) Personal income and (ii) Disposable income from the following

information:
Iltems Rs.
1. Private income 48,800
2. Interest on national debts 1,000
3. Net factor income from 300
abroad
4. Corporate saving 800
5. Corporate tax 210
6. Personal income tax 540

Explain diagrammatically, the situation of full employment equilibrium.

Explain the function of central bank in brief.

Which items are included in Balance of payment? Explain.

Find out Mode for the following frequency distribution:

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70 | 70-80
No. of 3 8 15 20 21 13 9 5
students

Or

Find out Skewness and Coefficient of Skewness by using Karl pearson’s

method for the following frequency distribution:

(In Kgs.)

Weight | 20-30 | 30-40 |40-50 | 50-60 | 60-70

70-80

80-90

90-100
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No. of 10 16 18 25 20 4 4 3

Persons

What are the problems of Deficient demand and Excess demand? Give

differences between the two also.

Or

Give the meaning of Budget Expenditure. Discuss Revenue Expenditure and

Capital Expenditure in detail.

Calculate Karl Pearson’s Coefficient of Correlation from the following data:

X 15 25 20 40 45 50 60 55 75 65

Y 16 8 40 24 48 56 72 64 80 72

Or

Explain expenditure method of measuring the national income. What are its

precautions?
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1(i)

1 (ii)

1 (i)

1 (iv)

1(v)

1 (vi)

1 (vii)

I (viii)

VI.

VII.

BUSINESS STUDIES-II

Who is known as father of Management?

Give any one difference between ‘procedure and policies’.

In Time wage rate system:

Total wages = No. of Hours worked X Wages rate per (Fill in the blank)

‘Communication involves at least two persons’ The statement is true or false.

“Direction is the least important function of management.” The statement is true or false.

What is SEBI ?

Is advertising unnecessary and wasteful?

What is the constitution of district forum under the Consumer Protection Act.?

The success of scientific management depends on mental revolution on the part of workers
and the management, Comment.

Discuss the importance of economic dimension in the environment of business.

Why line organisation is not considered suitable for big organisations? Give any three
reasons

Co-ordination is needed for all functions of management, discuss.

What factors are necessary to be kept in mind while determining the amount of working
capital of an enterprise?

Explain the essential characteristics of channels of distribution.
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Viil.

Xl

What you mean by entrepreneurial values? Explain its concept.

What is management? Discuss its importance in the running of modern business.

Or

What is meant by planning? Planning is vital importance in a management process. Explain.

What is meant by staffing? Discuss various steps in the process of staffing.

Or

Define supervision. Discuss the functions of a successful supervisor.

What is capital market? How is it important in these days?

Or

Explain the various marketing functions performed by a modern business enterprise.
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Class XII
Computer Application
Theory: 50 Marks
Practical : 20 Marks
CCE : 30 Marks
Total : 100 Marks
Structure of question paper (Theory)
Question paper is divided into four parts: i.e Part-A,B,C and D
Part-A Q.No 1 to 8 are objective type
. Part-B Q.No 9 to 12 are of 3-3 marks short answer type questions. Answer should be clear and to the
point .
4. Part-C Q.Nol3 to 16 are of 5-5 marks short answer type questions. There is internal choice between
two questions. Answer should be clear and to the point
5. Part-D Q.No 17 is of long answer type question. There is internal choice in this question. Answer should be
clear and to the point.

w e

Part-A

1. Write constructor and Destructor for class student which has following Data members: 1

Student id
Roll No.
Student Name
Class

2. Write a statement that will display the address of a variable Var. 1
3. What is NFS? 1
4. What is DBA? 1
5. What is File Stream? 1
6. What is Foreign Key? 1
7.What does FRONT=REAR=NULL Signify? 1
8. AND operation is represented by or 1
PART-B
9. What is important of Inheritance in OOP? Write with Example. 3

10. What are similarities and difference between function overloading and constructor overloading?

3
11. What is OOP? Write concepts of OOP. 3
12. Implement the Boolean Function with exculsive - OR and AND gates: 3
F = AB'CD'+A'BCD'+ AB'C'D' + A'BC'D
PART-C
13. Givent he following array. 5

89, 20, 31, 56, 20, 64, 48

Use bubble sort to sort the list. show how each list would appear at the end of each pass?

14. With a suitable example. explain when a copy constructor would be used. 5
15. Define BCNF. How it is different from 3rd Normal form? Write in detail. 5
16. Simplify the Boolean Function F in sum of products using the don't care condition d : 5

(@)F= Y'+X'+Z'
d=YZ +XY

(b) F=B'C'D + BCD' + ABCD'
d=B'CD' + A'BCD'

PART - D
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17. What is transmission Media ? What are various types of transmission Media? Explain in detail
10

What is Network Topology ? What are various types of Network Topology ? Explain in detail 10
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8.  #Afed gt |

9. fags € ot Arus I87

10 .  FIfeHT 3391
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68-69 2
66-67 3
64-65 4
62-63 6
60-61 7
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52-53 3
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MODEL TEST PAPER

CLASS—XII (PB.)

ECONOMICS

Time Allowed : 3 Hours Theory : 79 Marks
CCE : 30 Marks

Total : 100 Marks

#2 vt 639 U3dt @ oftes U3 @ Qug wdl & 2 a & wga fed

a8
1. Jat fg3 feamyr &9 wdt €739 92 .
(i) Hhi'3 wewe gaig = ¢ 1
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Total No. of Questions : 22) [Total No. of Printed Pages : 8

Time allowed : Three hours
) 3e :

e -

Sociolosy
s Yt yerst
RO

(Panjabi, Hindi and English Versions)

(FreErraesion

Maximum marks : 70

(i) »u@t G35-izdt @ ewiles Ud 3 o

Note :

3,

(ii)

G dF3 o wd Ry o a3/ug 35
. " Hg9 wow @ it !
HF FR-gReTw 3 36 g av fvg 92,0 Fe
A B Bs A e e fed
You must write the subject code/paper code
_+ T in the box provided on the title page
of yn;ur answer-book,

Fso-dzd 8¢ o fow 2 U3 fed Qv =e fy
ferr o zeles Aoz 30 U3 o5 w3 ==

g IS

FT-gitewl i 8 558 g Pt 39 & R g0 eme
AT 30 g ¥ ud it 5y 7 8

Make sure that the answer-book contains
30 pages (including title page) and are properly

serialed as soon as you receive it.
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(iii)

(iv)

(v)

(2)

§ga-izdt g wal Ua/03 g3 37§ I8
3 T2 yEsAESt € NoiEe adl disT
wear |
m@%ﬁw#wﬁfs}?n&gﬁxg@%mmm "
T /9% T I e [ |

Question/s attempted after leaving blank page/s
in the answer-book would not be evaluated.
s-A @ A yes Iz 998 Fgdt 95 | 99
ﬁaqnaer&?a;-fjmﬁvﬁéiaaﬁa
yms € 1-1 wa 75 |

q-A # T JIT BT FCF AT 81 8 0B 9 H
g7 1-15 o7l 7 @ e 1 27 o e 1-1 7% F 8
Attempt all the questions- in Section-A Giving
answer in 1-15 words. Each question carries
1-1 mark.

so-B @ Hd y§s %98 dgdl 96 | 99 a
yrs @ 857 30-35 maet By 9 | g9 B
YRS € 3-3 wa a5 |

a-B # @ 999 0 a0 &1 &7 0F 5
# auy 30-35 <@l 7 & WY & @ 97 B
3-3 3% &1

Attempt all the questions in Section-B. Answer
1o each question in 30-35 words. Each question

carries 3-3 marks.



(3)

(vi) MG‘nﬁqHﬁﬂxﬁa@mmFa’a

fBa yus e §59 75-80 muet ffe 9@ 1 o9
Ba yas € 5-5 »g g |

T-C & It 797 &7 T3 G0 &1 7 0% 57 &
gt 75-80 =1 F & qikn) &v 0% gew # 5-5
% &

Attempt all the questions in Section—-C. Answer
1o each question in 75-80 words. Each question
carries 5-5 marks.

(vii) 9D @ A3 yms I5 F98 wgdt I | o9

Ba yas e 859 250-300 meet feg 32 | g
e yws € 10-10 #a a5 |

W-D @ G 997 &7 F7 dad) &1 87 0F 9T
g 250-300 s/=t F @A =Y BT OF §eT 3
10-10 3% &/

Attempt all the questions in Section--D. Answer
to each question in 250-300 words. Each
question carries 10-10 marks.

~

FH-A 10%=
WT-A 10 &%
Part-A 10 Marks

32w yms v ] AT 3 |
e ;g9 qvT w1 7% 81

Note : Each question carries I mark.

§ I

<de fan 3§ < feeme 3 ?
7o e Tt &1 Haen ¢ 7
What is the kind of Varna System ?
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(4)
wiHgH wEE o 83Ut fam T st wiet @ 7
amem o= oIt B | A e g 7
From which the word Ashrama is derived ?

gitzr g Ham uo o faor fopr & 7
T e I E T

What is said about salvation in the Gita ?
w3t yaet € St € eH |

i e F FIE a a9

State any two abuses of caste system.

<gdr € wud & o ?
it ST R 7
What is the basis of class 7

uB2 3 yesh wenw § ot o fézr 3 7
Wl wrafe e B Fr AW B @ 7
What had Plato called the initial stage ?

ufge = miw féw fager was & 7
a1 wae ¥ & A e 7

What is the place of family in society ?

Aue3 ufged & ug wog df 3 ?

HYET AR W OqE S E R 7

What is the fundamental basis of Joint family ?
fior 3° &t 9= 3 ?

& A = e § 7

What is meant by forgi veness ?



(5)
10. v faoft mat 3 7

e d P

What kind of power is Religion ?
Fo-B 15 via
B 15 ofw
Part-B 15 Marks

BT . PIys @ 3 W7 o5
dic: FF 97T & 3 o #
Note : Each question carries 3 marks.

1. 9z € 9w <t a5 ?
9 % g wr E ?

‘What are the functions of Vama ?
12, =guzRt fomg @ P a5 o7
TR RAm 3 988 FeeT W |

Describe the main causes of Polygyny.
13. w3 ot Aftewi W & S 1
it B dem o AW saRh

Give the number and name of castes.

14. TN v TEfiygE |
79 % AT )
Commercialization of Religion,
15, “ufgew fix yfafeer 3 1
“oRar w5 Hiw &
“Fami]yisap!mss.?“




(6)
a-C
w-C
Part-C

S :oRyEs e 5 Ax I& !
qz: mhew g 35 9% 8
Note : Each question carries 5 marks.

16. WiewH »mEgH |
R A
Sanyas Ashrama.
' U
SLE
or
ToF femmar 2-dy €W 1 .
9ot Zqen % WS A9
Main demerits of Varna System.

17. T w3 =W R A9 !
e iR T F W=
Difference between caste and class.
-
LG

or
Waw YuE € AOn |
A mfta & A
Means of Moksha.

2549
25 &%
25 Marks

L LR



18.

19.

(7)

fenrg & dar gu faozr 3 ?
Fae % s v i ar k2
WhatistlmmodelfnnnnfMarﬁage?
W
SreET
or
w3t yerEt e iy |
ST e T W |
Future of Caste-System.

wHeH feemar ¥ ifsa fhoizr o =asz 33 |

S T % A et o 9o 5t

Discuss the fundamental principles of Ashrama System,
i
HET
or

w39 forg ¥ s |

H=ilEaTE & H |

Causes of Endogamy.

UeH ¥ Hles § fonfaz gu v |
o 1 SfeT @ Pfves =g 3
Religion gives definite shape to life.
A
FeEr
or
AiZ ufges & ngg |
HgF oitar &1 o |

Meaning of Joint family.




(8)

s9-D 20 =
qm-D 20 9%
Part-D 20 Marks

3z : gdx yRs € 10 wd I35 |
e : g e 3 10 &% 21
Note : Each question carries 10 marks.

21, aﬁwﬁmmﬁﬁ?ﬁﬁm?maﬂﬁ
forg ysfes woe o5 |

waﬁmtﬁ%?ﬁﬁﬂmmwmaﬂsﬁ
s T 6 |

Is Caste changing ? Discuss various factors affecting 1L.
|
Y91
or
forrg Ot 5 udlees famit o =98 &9 |
P 7 Rt sewrm Bl # a0 i |

Discuss the various traditional forms of marriage.

2. uaH ot ufsmr fe@ w2 fone dut @ <daE &9 |

eed 2 ofsr 3 ol gEd @A 5 Ao B
Define Religion and discuss its functions.

A

Hgar

or
fuas ufsed @ fewes @ ot & ferrfior &3 |
dgF iE & REe 3 Ot F A ST
Explain various causes of disorganization of Joint
family.
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FunppamenNTAL OF E- BUsingss

-
-5
Part-A
1. . ¥ fou ywst v G35 ol -
f=ifeiias aedl & gax ¢

Answer the following questions :

(i) Ho&T Jaaddt v 3¢ I

(@) wmusr 3 yfgwr a@sr
(w) Hoa' T 3ITEH TGS
(el wmosr & A8 FEsT

(n) Gw@az W ' 1.
. [Turn over
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(4)

A TR s R
(%) g w s
_ (Ej A1 & = HE
() I A EEE &
() Syt wd
Information technology refers to :
(a) Processing information
(b) Transferring information
(c) Storing information
(d) All of the above 1
(ii) gz &t dans wes = yaar Wy 39 I fam
st &z wer I ?
@) J=w fesuz mEt |
() =8 wBauz et
(g) &y Fomt st
m) It & &t 1

F-d41E 3 B T F AN g w9 ¥ B f
P s & 2 :
() Fa= gge F forw
(@) Faa smeye % fag
(m) Pa-Fem w9 $ B
(@) =% @ I



(iii)

(iv)

(5)

Funcﬁnnkeynnmekeyhuard_mmainIyUSEdfm
(a) Input only

(b) * Output only

(cj Miscellaneous functions

(d) None of these. I
feeade Rew Yz 9 sE 5 fid R
fom & 83 ot ¥ ?

© af@es () 23 feeodw

(@) fécade mgez W) w W wm 1
gee g ara F & f Fefafea § @ R
T 6 Tl |

(®) w= (@) P gexda

(M geweghm | (9) 3dE. 1

Which of the follwing is not a requirement for
availing internet services ?

(a) Computer (b) Window interface
(c) Internet services (d) UPS 1
J5 St 9 fooar dleam @ w3
aft 3 ? | '

@ D2C (n) B2B

® c2c () B2C -

[Turn over



(v)

(vi)

(6)
frretfafae & & f=-a1 S-aiforsg o dizw 8 & 7

(%) D2C (@) B2B

(M) C2C (g) B2C 1
Which of the following is not a model of
e-commerce.

(a) D2C "~ () B2B

() C2C (d) B2C 1
J5 fou €9° etmafor ¥ 33 fo03 o5 ?
€ yr= () fEafact

(e) & fesardt () Gudaz A3 1
freffea S dgad qmdma ¥ ?

(®) T () 0

(M) = =l (@) oy a4 1
Which of the following are elements of
e-security ?

(a) Authenticity (b) Integrity

(c) Non-repudiation (d) All of the abuw: 1

fea foRmaesr o 3 v 148 fouwfaet w3
Y& HEer 3?0

(@) Iem fog (w) dem ¥

(@) % woft w3 W) adt & =t



(7)

vr Pavmel oftmen et ROl em gemr
e & 7

@ dwmwE . (@) W

() Pl (w) R

How many are the numbers of depositary
accounts that can be opened by an investor 7

(a) Only one

(b) Only two

(¢) Any number of accounts

(d) None of these i

I
TI-E
Part-B
2. A€o & fefowradt et oIz 3?2
Frgey % Faidal & f @ wew ® 7 2

What is the importance of computers for students ? 2

3. wadhifen G439 faodfaod o5 ?
nedrdifear 4= #A-8 § 7
What are different multimedia devices ?
4. Tiw Tt gw 3 ?
$-q & 7 o B 7
What is meant by e-mail ?

[ R S S S R R
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(%)
IﬂZFﬁmé‘—a‘iﬂa?' . 2

@ AP @ et b 2 2
. What is meant by C2C commerce ? 2
Pz T9s T At gw A0 2
i s & T St d 7 2
What is meant by Smart Card ? 2
. e @ @t B9 g5 ? 2
AT S e am ¥ ? 2
What are the advantages of e-banking ? 2
Phadiidar it ot g5 ? 2
T R e wfwi ¥ 2 2
Write down disadvantages of e-marketing ? 2

i

W1

Part-C

AWGes A e R | fort o e

75!

C L
edm?2 oM@ yag 2 32 o ? 5

[See 9th page



(9)
W’(ﬂmml}'ﬂﬂﬁﬂ-ﬁﬁ!ﬁﬁmt?

FE
mw%?ammwﬂ?' 5
Define Cumpuwr.mareiis fﬁlums?

or
What are printers 7 Explain various Lypes of
printers. 5

10. ﬁfaﬂﬁﬂfﬁﬁﬁ?ﬁﬁ%wﬁiﬂ'w

aa |

L
ficane wamT Tﬂfﬂ'ﬂ'ﬂ'a' fag o 2. femaoyeed
fad | 5
gmaﬂaﬁm%?g@:mﬂmﬁ;
L]

s‘zﬁzwaﬁrmmﬁt%?w%ww 5
What do you mean by e-commerce ? Explain its
advantages.

or
What is the requirement of internet security ? Discuss

in detail. : : 5 -
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(10) x
1. #2fa 3 & 3w 3 ? et it Az

fagdhat gz ?
mmﬁfmw&?mﬁam‘m '
Rafuz wiitor w3 zomrs WS fe am 7 s
f—ﬁﬂﬂwmﬁmﬁt?é-iﬁ?ﬁﬁﬂaﬂﬁﬁémﬂ?
. | -
aﬂaﬂﬁwﬂ-wm%?mﬂmwa
FRIT YO A PR e D @ P 2 5
What is meant by-e-banking ? What are the services of
e-banking ?

or. .
What is meant by on-line trading ?Whatarelhesafety
and payment issues involved with regard to on-line
trading 7 5




©

Mo&u Te<r Pﬂp“ﬁ
Ceass -XI1

F DucRTon

M aEt e ?

TH 8 7

" What is society ?

[Turn over




2
SCERT. ¥ ug & fe@ w3 aet fia iy aw
faa | )
S.CER.T. & [ am fordd it % ft w 707 +d "l
Give the full form of S.C.E.R.T. and write any one main
function.
w39 %9z o ufgswr fei |
@ AT o1 T ford |
Define a blackboard.

10+243 <t ufesmr feg | (fifter yard)

10+2+3 it oftemsy ferd | (R some)

Define 10+2+3 (Education structure)

@g ? agt st ¢ feAmswi fod |

WA IR IR T R T e d e g G
FStweTd ford |

How does Radio and Television help in teaching ? Write
any two features.

¥ Bt e mi€ fa ywls sadt i et
o &t |

A T F wmenel B wree R ol 6 @ w9

Explain in two lines that whether Indian Education in

ancient times was good or not.
-




T.

g‘:

10.

s

3
(¥)

15wt g fon Mot wRfefims il

st &t w3 3 ?
15 st & Pt e seifoensr &1 oreas & 5 o & 7

Write in 15 words the importance of Educational
Psychology for a teacher.

fifimr = 55 35 Hzet 33 der I T@sE @9 |
far &1 e i &l A% dtr &1 avt &
Organisation of education is done at three levels.
Explain.

B.PE.O. = ver & o »2 few v aet = wgdt
av fsa |

B.PE.O. # 70 79 frdt ot geer #8 W 0% & s
ferd |

Write the full form of B.P.E.O. and write any one main

function of it.

At fifipr ot @ 7 10x1=10
ey e @1 B 7 10x1=10
What is secondary education ? 10x1=10

[Turn over



11.

12.

13.

14.

g

frftmr w2 mew @ WU § 25 weEE R Tose
=

faren S wure F @ @ 25 9= § qoiT #51)
Explain in 25 words the relation of Education and
Society.

3t fhanz feftmt 3 &t mime 3 ? <9sE @ |
g Rraer Rt @ o @@ @ 7 3o B0
What do you understand from methods of teaching ?
Explain.
h{ﬁlhm%ﬂe?ji?-fz&ﬁﬁw}_ﬁz&mﬁﬁa
¥dee ad |

FEE & g A G-l oS ol @ 25 = F avfa Y
Explain any two-three good qualities of a teacher in
25 words,

UGC =t 3 ? fom @ 4w ¥71 |

UGC 71  ? 553 %1 7amd |

What is UGC ? Give its functions.

=



| )
15, d' u9w, fifwr e fa@ mofed o5 ? 5x3=15
9% 42, e 7 39 qews £ ? 5x3=15
How chalkboard is helpful in teaching ? 5x3=15

F9-C
-C
Part-C

16. 10+2+3 fifmr yaredt e feimarer foir |
10+2+3 e gt it Rdad soed |
Give the features of 10+2+3 pattern of Education.
|
STHET
or
yferdt fifftorr € €9 ot a3 ?
S e 3 sgem A ¥ 7
What are the aims of Primary Education ?
17. awdie fiftmr =it 1986 3 32 fau |
TS e i 1986 9 e g |
Write a note on National Policy of Education 1986.

r
7. WO [Turn over



19.

[l

(6)
i
SEE \

or

yfendt frftmr e ege wedt »3 afidisst 2 gawr
T |

et R 3 vl ofi Afedivan @ == #X)
Wastage and stagnation at Primary level. Discuss.
Ty e Asd masr @ witwuar e i
yfframe |

Yo H At Rt $ st @ e

Preparation of secondary school teachers in Punjab.
Wi

YT

or
C.B.S.E. 2 ffa wdga3ya &2 |

C.B.S.E. T T A& 3z |
Write a critical note on C.B.S.E.

CABE. o yar &t ot 3 ? fov@ aet & O 2t w3
f=q |

dadd. & qu am Fn § 7 g B o g e R
What is the full form of C.A.B.E. ? Write any five works
done by it.

[See 9th page




or
i vafeforrs 3 ot 3 3 ? fom & wgu &
3?
Ry =T & o A Bl gem EsT A R 7
What is meant by Educational Psychology ? What is its
nature ? '

. SISE @ wwe I voer v | fom € O v w9se
a3 |

SISE # §& W 5w s §Y, 56 Hdl B T
e |

What constitutes S.1.S.E ? What are its functions ?

it
e
or
aw it Mza8 & fewrftmr a3 | 5x%5=25
T v s @ e B | 5%x5=25

Explain the state ministry of Education. 5%5=25
' [Turn over




21.

22.

(B)

9D

9F-D

Part-D
e Has fitmr 98 @ dWi w3 F9de w9 femaw
&5 fou |

o g e @1 @ el ol wda @ 9 F Rengs
o |

Write in detail about the works and duties of Punjab
School Education Board.

A

g
or

ughz @ Aus @t 95 w3 feu faodfaod Os ? o

fer <t 9= fa@ aar ?

e e wrEll @ F1 9E 2 ol A-ae & ¥ 2 g o
T BE R w0 ?

What do you understand from teaching aids and they are

of how many types ? How will you select your teaching
aids ?

dfifews 2 Uneg fitfmr T wizeyds rofes mitet
a5 | fenfemr ad |

eefifasi aun drex faran @ weeyl werms areh ¥ aren
|

Television and Posters are important teaching aids of

o
=

!



(p
G
Hgd]

or
303 Iw e fifker & daes &2 @ ? B.PEO.
® Worew § wenE | 10x2=20

% 1o # i & @ 3@ ¢ ? B.LE.O. & 9vEE @
e HIT | 10x2=20
How is the organisation of education in your state ?
Explain the contribution of B.P.E.O. 10x2=20

-z



P n L o [ g SRR
&

Total No. of Questions : 22] [Total No. of Printed Pages: 11

-

ANNUAL EXAMINATION SYSTEM
PHILOSOPHY (Theory)
(Panjabi, Hindi and English Versions)

b S———)
Time allowed : Three hours Maximum marks : 70
3= . (i) wt GFousdt @ evies U5 3 R
F3/lug 97 @8 wa Ry few a3/ 35
, . ¥gd To7 a9 |
e : A FT-gieE @ §ET T 9T R S/ FE
g & 7 By #e/09 #8 A aaeq g |
Note : You must write the subject code/paper code
.« in the box provided on the title page of
your answer-book.
(i) GFousdt &2 O fom @ UB fored W BE
for f¥g odles Afyz 30 U8 96 W3 3l
gHEd I&
m—gﬁmﬁ#ﬁm@ng&w#ﬁsﬁ
agew afta 30 v & @ @@ w7 8
Make sure that the answer-book contains
30 pages (including title page) and are properly
serialed as soon as you receive it.

il g, [Turn over




(2)

(iii) ESoUFd fg vt U AlS g5 3 g gu

(iv)

(v)

A3 G YHSAES © wmlaE st g
wear |

mgﬁm#aﬁﬂ@#wgs/gﬁimsﬁﬁb@
T 7 /57 F g 76 R s

Question/s attempied after leaving blank page/s
in the answer-book would not be evaluated.

w3 Yy agdt a5 |

& 7w At &)

All questions are compulsory,

YREUZT T T @, W ' w3 W) By Sowr
for 3 | yrs S53 1 3 10 o9 Bafex e
?@Eﬁ»ﬂ@ﬁ?ﬁeﬁ?m@aﬁ&
YEs & 11 315 397 Baf3s dat o8 gx
w3 gt e 857 30-35 Heel f fog | yrs
zﬁlﬁ?‘zuaé‘aﬂm?w»?af@#aaw?@gf
?Eﬁ??j—ﬁmﬁa%ﬁ@)ﬁqu
ﬂaﬂega??z@a?ars?&!qm&nw?
22 ©RER a8 U5 fegt @ €57 250-300
w%m&w@ym@awﬁ
st aret & 1




(3)
gergs G W (6, W, W ol §) F arer @ &
g7 Far 1 310 05-0F 5% a1 & I F% S @
i 7 &) go A 11 @15 didlT o a & ST
g7 auY 30-35 9l 7 1 79T 7t 16 i 20 dig-
i ol @ & ofte g8 a 75-85. o F & oR
w77 s ge 4w & geF dax 21 § 22
mwﬁmﬁgmsﬁaﬂ?zmsw g=t 5 7
ale g7 apis g2 & 7 2
Quesrion paper is divided into four parts A,B,C
and D. Question No. 110 10 carry 1 mark each
and their answer should be in one line only.
Q. No. 11 to 15 carry 3 marks each and their
answer should be in 30-35 words. Q. No. 16-20
carry 5 marks each and their answer should be
in 75-85 words and are with internal choice.
_ Whereas Q. No. 21-22 carry 10 marks each and
their answer should be in 250-300 words and

are with internal choice.

[Turn over




"

(4)

T8 w10
% &% :10
Part-A Marks : 10

a‘e:#ﬁﬂraaﬁaamna?aammf
qle : m&'mwm?ﬂwm;

Note : State whether the Jollowing statements are True or

Ii

4.

False,

Quamer faft wesr & emsfes a9 3 |
U el e At w2

Hypothesis is the real cause of an event.

feforsmsa fedt femeny 2 wogg 3

e Py Rream o omenfee &

Scientific method is based on belief.

Rfamisa fenrfipr feenfaz 3 1

o 2 e B

Scientific explanation is systematic.

3oaed ¥ uwl feway AdU e was 3 |
Hﬁmﬁwﬂ%ﬂaﬂmww%r
H'Dpuﬁﬂmisamﬁmlaﬁmbﬂmmm




6.

(5)
fea dzaw vighs e 35 g™ ¢ 06 |
wF AR A 3 A aeaed B e
There are three propositions in an Immediate Inference.

Pare3 fowdtnigge § famrs e AWt e 3
I 3 oY B S i A E

Descartes believes in sensory experience as the source
of knowledge.

Ffzaee weHd e uged 3 @A J |

AiAr & oan 5 e § 4w )

Mind is superior to matter, according to Materialism.

ot woRs o Wy witpwska J |

A wd @ e e §

The nature of Indian Philosophy is spiritualistic.

Hordt w wHnigassT v fui fige enges AeE
& e wger J |

T S $ e $A6 JEH 6 B
0 2

Coherence theory of truth proves only material
truth.




(6) p
10. soeeeizr vmeg & 9w By fomewm =t aueft |
wiag el vt & ot 7§ Brearr 98 v

Bhagwad Gita does not believe in the existence of
God.

I wa:15
- &F :15
Part-B Marks : 15
3¢ : 95 59 99 yEs ©r 659 Basar 30-35 meer By

fo& |
e : Pyl g% g a7 397 30-35 9= 3
Note : Answer the following questions in about 30-35 words
each.
11. Qeass ¥ @ Qv swum & ufger el |
BeTeT Hiew Iumerr B uftamr 2
Define Hypothesis with example.
12. fefomrss foorfior ot 3 ? w5 a3 |
I e 7 & ? avi i
What is Scientific explanation ? Describe.




" 13.

14.

15,

16.

(7)
Gogss € ¥ Vu=adt wmgws €t ufggwr fe@ !
JETET A qeEd A B S 4
Give the definition of Mediate Inference with example.

ot @ weH wagsd' ¢ fHos € wew |
o % e e & o
Meaning of Coherence Theory of Truth.

Sfzmee & ufssw fe@ |
+Hicrars 1 9T 3 |
Definition of Materialism.
FO-E wa:25
AT % 125
Part-C Marks : 25
fefsmsa fedt & Guafersr &9 €A |
Hi
o Hu Quasus ©hi w3t IS ©H |
St Rfy #1 svdfEr # a9 HT |
Syl
T GF U A A B A T
Describe the utility of Scientific Method.
or
Describe the conditions of valid Hypothesis.
[Tumn over




17.

18.

(8)
fefamrsa fenwrfior T dhiet o =gs= 73 1
i

RUTE fenifinr w2 fefammma fonrfipr Sgaa wzg
© AEU 8 wsE a9 |

AT e i drned #= av 59
9

HIYT v o denfeE aven 3 e o 5 gly § i
Cd

Explain the limits of scientific explanation.

or
Describe in brief the difference between popular.
explanation and scientific exnlanation.
gSEal € A% ® wow 3 wdditass w9 |

AT
fEa wa w3 3oawe & ffw o7 3 95 95 ?
TI5E a9 |
AR T B ST T T 5|

e

O A T TR OF T & R S e B 7 9o )
Classify propositions on the basis of Relation.

or

How a sentence and a proposition differ from each

other ? Describe,

[See 9th page




(9)
19. ﬁaﬂw@ﬁmm%ﬂﬂ%gumwaal
G
Hod 2 ¥ wagss ¢ fiuiz v AAv Re e
Ecll
zﬂnwﬁm%ﬁﬂ%mﬁaﬁﬂl
HGA
A SO & v & g 3 o B0
Discussinbﬁefsensmyﬂpnﬁenueasameof
knowledge.
or

Describe in brief “Correspondence Theory of Truth”.

20, mmﬂwaﬁﬂﬂmmﬁéﬁl

it
fz & Be @ Tee €9 w99 9 |
wredia adi @ @ o Ridearel & art & Fae |
HYH
——t Lk L LR R R
Describe any five features of Indian Philosophy.
or
Discﬂssmcmncqﬁof‘Sewa'ufSikhism

; [Turn over




(10)
FE-H ?ﬁa:ze
-

3% :20
Part-D Marks : 20
21. Tefomisa fenrfimr i fS5f3s famd =3 Td5E
g |
i

Sgaeat & yfsEsar v wew w3 O dhat it o
<dsE 99 |
A e R Rt a7 a0

Sy

Mﬁﬂﬁﬁmﬂﬂéﬂmmmﬂw.
F |

Describe the various forms of scientific explanation.
‘ or
Describe the meaning and kinds of Opposition of
Propositions.
22. RvwEwE ? Uiz v femew 5 wEss =3 |
i
FoEdtsr ¥ Faweer @ Mo o wese a3 |




(11}
e ® PR o Rreepls o w1
e
v A 2 wii 3 fer w o &)
Discuss the theory of idealism in detail.
or f
Describe the Phijusophy of Karma-Yoga of
BhagwedGia.




X

Poroan HisTeRY AnD CulToRE

(v)

(2) MM: 50

g 4. 18 107% 1 5% ¢ 8| &7 v 10-15
gt & Ffere  geT 7. 10 & 1S @ 2 o & 8
% 7. 20-25 g=1 § fifge) gew 7, 16 7 19
a% 5 ofE & &1 T auv 75-85 wE] ey )
757 4. 20, 10 57 %7 &1 g5 FaT 250-300 =1
g fafea |

Q. Nos. 1 1o 10 carry 1 mark each. Answer
them in 10 1o 15 words, Q. Nos. 11 to 15 carry
2 marks each. Write answers in 20-25 words.
Question Nos. 16 to 19 carry 5 marks each,
should be in 75-85 words. Q. No. 20 carries
10 marks, answer should be in 250-300
words. ;

drem i Sl B an ? 1
Who was Daulat Khan Lodhi 7 1
T6 AE 24 ot B W W B A AW B 7 1
What is the present name of Guru Nanak’s birth

place ?

A1 didt oht B 4t ?

Who was Bibi Khivi Ji?

g g R B A gE F A ?

Which Guru started the Masand system ?
g e & 4 7

Who was Bhai Gurdas ?

75 Briie= o A U we g

Where did Guru Har-Gobind Ji die 7

1

el e b

e T



Roll No.

e L T T T

003/B

Total No. of Questions : 20] [Total No, of Printed Pages : 4

SS
2034

ANNUAL EXAMINATION SYSTEM
PUNJAB HISTORY AND CULTURE

(In lieu of General Panjabi)
n for All Groups)
d English Versions)

Time allowed : Three h Maximum marks : 50

e (i)

Note :

(i1)

(ifi)

(iv)

Z v 9r fg sz
#E A EE 003/Bomey

Make sure that the answer-book contains
30 pages (including )\(r;’e page) and are
properily serialed as soon\as you receive it.
- Yl & @t 812 1 ve s gt § gven aa
R6d 73 aw,/755 7 qoFT T e o g

Question/s attempted afn.bf leaving blank
/ page/s in the answer-book would not be

evaluated.

w4l v sifard &1
All questions are compulsory.

003/B-SS- 1,700 [Turn over



i

10.

11.

12.

13.

14.

15.

(3)
wEEl TR 48 F aRfes Tm o e I
What was the first name of Maharaja Ranjit Singh 7 1

Sifare & W@ ¥ g 7 1
When did the treaty ‘of Bhairowal came into
existence ? 1
T @i o ? I
Who was Ranjha ? 1
| wiE 29 4 7 1
Who was Sheikh Farid. 1
et @ @ v § 7 2
What is the concept of Kirat ? 2
FoAvE HE @ e B B w e T g 7 2
Why is Talwandi Sabo called Guru-Ki-Kansi ? 2

TETOAT TR e 3 @R 0T %E e arE @ 7 39 W e

gt T Frme &1 9rEE on ? 2
When did Maharaja Ranjit Singh conquer Lahore ? Which
Misl was ruling’ Lahore at that time ? 2
Fiege STl @ ot ? 2
What was Kankut system ?

S % A Sl B S A aE ) 2
Give the names of Punjabi poets during the Mughal
period 7 o

-

L [Turn over



16.

17.

18.

19,

20.

{43

ORI ST B A e da @ ? 5
What was the social condition of Panjab under the
Mughals ? 5
R et & Ry & 6 R off @ wn deer d ? 5
What is the contribution of Guru Ramdas Ji to the
development of Sikh religion ?
wER i {iE 3 @R fag 33 e & 7
How did Maharaja Ranjit Singh conquer Lahore ?
T & W YT 5 ATET B @ ?
How was Puran’s behaviour towards L una ?
- % wehy it ad & avts B 5 g
Discuss the origin and working of Dal-K halsa. 10

: T '

S th th th th tn

or

i ol Tm A Felt @ A g 10
Narrate briefly the story of Heer and Ranjha. 10



WS 2AE WUd

feg - foweat

et - 10:2
3R fawstmia : 70
Rt Ht. 8. : 30
gz wa 100

() #@ y@s agdt I |
it go7 afvard €1
All questions are compulsory.
(s) | g =B ymst @ §5g 1-5 wewl e
fof | 3 ¥at o8 yAsi € §39 20-25 meel &9
ol | 5 wiat =8 yrat @ €39 35-40 qul 6y
@ 1 10 Hai @B yEsT @ §F9 250-300 FEE!
feo 8 !
| siw 3@ get 3 auv 1-5 @@ 4 dfrgi 3 S A
go & g 20-25 9 7 dvg) 5 o @ A %
S 35:40 i F APy 10 S @ e B
250-300 =t 7 difi j
rD,,L_j','} fesant—




ll-

(3)

Answer to questions carrying 1 mark be given
in I-5 words. Answer to questions carrying
3 marks be given in 20-25 words. Answer to
questions carrying 5 marks be given in 35-40
words. Answer to questions carrying 10 marks
be given in 250-300 words.

(%) Uiag v gaw E39-zd a5 gt a5 |
GO T A JAT-gRaE A Ae

Attach the map of Punjab with the answer-book.

I8 nd : 24

W% % 24

Part-A Marks : 24

lose T dfl sw 3 ? 1
Yo & o e ® 7 1
What is meant by Panchnad ? 1
g 56a v W B A 93 e ? !
6 A Aol EE A Amem 2o o 1
Where did Guru Nanak Dev Ji die ? 1
. D@IFW [ Tum over
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-

s

(4)
gy wiem g fawer Uzg # ? A

qrEl T U g o 1
Whose son was Baba Attal Rai 7 1
fedt 9w Jz ft ? . 1
Rifer =g B o ? 1
Who was Vidhi Chand ? 1
fiur € &2 a9 de Hs 7 1
fral % Aam 5 & 4 ? 1
Who was the nineth Guru of the Sikhs ? 1

e @ oot 3 fea @ fofsow § @ yks

dtzr ? 3
g i A A ge gfvem B AR wafE B 3
Hew did the Rivers of Panjab influence its history 7 3
wife g e ot Wiz & ? 3
R 59 3 e ¥ 7 3
What is the importance of the Aadi Granth ? 3
gez @ savl 3 féa Auw &z fag | 3
TR # I= T 0 HEa e R 3
Write a short note on the battle of Nadaun. 3

Polyrtkann



9.

10.

11.

(5)

H ? 5 .
Tl & i dore § et o d 7 5
What was the condition of women in Punjab under the
Mughals ? 5
e W9 d Wt ? @nd 3@ wiews Qe +t w fedu
fa@ dizr ? 5

TER I A T e A R S R ? 5

Who was Chandu Shah ? Why did he oppose Guru

Arjan Dev Ji ? 5
FTaH wa: 35
qr-g %35
Part-B Marks : 35
e ut wdd v mEes ae "fewr ? 1
A G AR F G A @ ? 1
When did Yahia Khan become the Governor of
Lahore ? ]
)’}J’ | ’f' #‘""_

[Tumesor



(6) Sy

12. TsYEA © AEUsT fE 98t 7 4 ‘1‘
- W B g 9 ? S
Where Dal-Khalsa was founded ? 1

13. »fove Ao wEewEt @ e §rg 7 1
T W IR T T A q 7 1
Which place was ruled by Ahmad Shah Abdali ? 1

14. W' 33 fan fims &5 Afg st w7 1
T I W a9y e e  w ? 1
Which misl belengs to Sadda Kaur ? |

15, Ui T vt B vowwr 3= A ? | ]
TN ¥ 3 R WERe S ar ? | 1 1
Who was the last Sikh Maharaja of Panjab ? 1

16, &5 fw 3z w7 ? | 1
A iy BT ? 1
Who was Lal Singh ? 1

17. uFhz <t Hft m=dt @ St e fsad ? 3
M | ded wee & wr e 4 7 . 3

... -What were the results of the third. Battle of - .,

Panipat 7 3



i

(7)

- 18, Hgewr etz fhw e uew fsalv wwa A

19.

20.

21.

fa@* ? 3
HerTE i e ow o P g 8 88 7 3

Maharaja Ranjit Singh was a Secular Ruler. How 7 3

wagat w3 i fegae 98 ufod o ® Twe w
To6e a9 | 3
sttt o Ryl @ e 0B gw @ WO W g A 3
Describe the causes of the First Anglo Sikh war. 3

ufoB #F 82 Wgwd wa 3 off wee T 7 S
gun S GBI gegEr $ ed § o w2 w6 7 5

What do you know about the First or small

Holocaust 7 v
wHe Wud iy to & & yge y@ ? s
g Sl 4@ & 791 e 68 7 5
What were the effects of the Second Anglo-Sikh
War ? -

. o g it B W g waer wff et @ aee

& fenwftmr ga | 10

N Dn’?ﬁ'k_ﬁ_

i

Tum over



(8) - -
Bl
ufod Wiy tu ¥ age w3 fifow o wose
ad | 10
41 76 T e @ w0 aee ORI % B S A
i | 10

S
wen E-fe g & F adn e & o efe 10

Describe the causes of the creation of the Khalsa by

Shri Guru Gobind Singh Ji. 10
or

Describe the causes and results of the First Anglo

Sikh War, 10
IT-E w11
=T : 3 : 11
Part-C Marks : 11

®) Uy ¢ walise e 9y 9fde flw Wt S
Hd3eE yas saFEhil ¥ 99 mes 99 | 7
(mi) we fozg € 58 o® wawt & forfimr
SaEal 100 weet &g ad | 4



@)

(i)

()

(a)

(b)

(9)

T
e ¥ wafize fEe woawr ez fw S
HJ3E Yds o9 fizi € mes 39 | 7
Wfize &g 39 o2 wast € fewrfier SaEar
100 muei R fog | 4
W F AeieE d 76 AT R ff 3 A geay g@
& W 91 7
o # o et @ g e 100 e=t
fered | 4

e _
T F AR § AwrE i e @ e | Rk
3™ A 7

A § 9t e wE #1000 9= 7
o 1 4

On the outline map of Panjab, show four important

places of the battles of Guru Gobind Singh Ji. 7

Explain these places in about 100 words. 4
or

On the outline map of Panjab, show four
important places of the conquest of Maharaja

Ranjit Singh. ) 7
Explain these places in about 100 words 4
Dby e — [Tum over



(10)
rmmmmmqmmﬁ
g 3 adouor yEs)

@ e e gt sl & st aeet

o ¥d6e d9d | 7

i) e Baraht d= W 7 G0 fine fa¥ wfor 7 4
A

@) e gorwe o v ey @ ot geE e ! 7

ni) WoEwr gsis fiw & amis iz v <dse
qd | , 4

(3w FdT Refefal B5 Rg 7o 7. 23 @ @7 7
- FT A 5)
(@) 75 M Riz otz aeE i B T S

~J]

(@) =1 &l B o1 7 A R 30 7 4
el
(%) %=1 gt @ SmEE AR S 7 HT A 7 7

(@) weron R R B sw fBew o ook sk 4



F i T

(a)

(b)

(a)

(b)

(11)
(For Blind candidates only in lieu of Q. No. 23)

Describe the causes of the creation of the Khalsa

by Guru Gobind Singh Ji. 7

Who was Banda Bairagi ? How did he become

Sikh ? 4
or

What were the causes of the early success of

Banda Bahadur ? 7
Describe Maharaja Ranjit Singh’s conquest of
Kashmir. . 4

% oo i 1

bt



